Vi<3=+90o|BR
V(VT-3) /(3= V7)
= |v7-3|- |3~ 7]
=—(V7-3)-(3-V7)
=-VT+3-3+ V=0




Vi3 >3 olB&2

V(VB=3)"+ \/(3- V13)°

VI3-3-(3- Vi3)
Vi3-3-3+ Vi3
2V13 -6




3>2V20|28
)3—2@]—‘2«/5—3‘
=3-2V2+2V2-3=0




@ 1 @ -1 3)3-242
@ -3+2v2 ® 1-2v3

B

1<V2<20BE22-42>0,1-+2<0
[2- V2| - |1- V2| =2- VE+1- 2
=3-22




5. y/(1-2v8) - \/(3V3-4) - 28] shojet,

>
> HE: 8-5v3

2V3=V12<4= V16 < V27T =33 0]|B &

V(4-2v3)" - /(3v3-4)"
=4-2V3-(3V3-4)
=4-2V3-3V3+4
=8-5V3




D 1-3 @ 5-3v3 @0
@ -5- V3 ® 5- V3

B

V3-2<0,2-V3>00]2&
1V3-2-12- V3=~ (V3-2) - (2- V3)

-V3+2-2+13
0




7. /(2v5-3+2)" - /(3V2-2v5)" & Atstofet,

>
l> b= 0

oHd -

B

2V5 = V20 > VI8 = 32022
J@ve-a) - /-2 i)

=2V5-3v2+ (3v2-2v5)
=0




V(1= V)2 = /(V5 + 3)2 & 7k Btodat,

| 2
> ™t 4

1-V5<00B& (/(1-V5)2=+5-1

(EFA) = V5-1-(V5+3) =4




V(VB-1)2+ /(V3-2)2 & Axtslole,

>
l> P Sl= B |

okl =

B

V3-1>00°]B2 /(V3-1)2=+3-1

V3-2<00|22
V(V3-2)2=—(¥3-2)=-V3+2
L (VB=1)2+ 4/(V3-2)2
=V3-1-V3+2=1




